Quadratic Word Problem Practice – GREAT review for Test Monday  
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5. You drop a rock off a cliff 600 feet high. The equation to represent the fall of the rock is 
      h(t) =  . How long will it take for the rock to hit the ground? 




6. A monkey in a tree dropped a banana 96 feet to the ground. The number of seconds, t , it took the banana to reach the ground is represented by h(t) =  . How many seconds did it take the banana to reach the ground? 





7. A girl at a football game dropped her palm-palm 115 feet from the stands to the ground. The number of seconds, t , it took the palm-palm to reach the ground is modeled by h(t) =  . How many seconds did it take the palm-palm to reach the ground?





8. The expression  represents a company’s profit for selling x items. For which number(s) of items sold is the company’s profit equal to 0? 
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Aperson throws a baseball from height of 7 feet with an initial vertical velocity of 50 feet
per second. Use the vertical motion model, h = -16t? + vt + s, where vis the initial
velocity in feet/second and s is the height in feet, to calculate the amount of time the
baseball is in the air before it hits the ground. Round your answer to the nearest tenth if
necessary.




image2.png
Afootball player kicks a football from a height of 4 feet with an initial vertical velocity of
64 feet per second. Use the vertical motion model, h =-16t2 + vt + s, where v is the initial
velocity in feet/second and s is the height in feet, to calculate the amount of time the
football is in the air before it hits the ground. Round your answer to the nearest tenth if
necessary.
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Aperson throws a shot put from height of 5 feet with an initial vertical velocity of 40 feet
per second. Use the vertical motion model, h = -16t2 + vt + 5, where vis the initial
velocity in feet/second and s is the height in feet, to calculate the amount of time the shot
put is in the air before it hits the ground. Round your answer to the nearest tenth if
necessary.
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Aperson kicks a shuttlecock from a height of 3 feet with an initial vertical velocity of 25
feet per second. Use the vertical motion model, h =-16t2 + vt + s, where v is the initial
velocity in feet/second and s is the height in feet, to calculate the amount of time the
shuttlecock is in the air before it hits the ground. Round your answer to the nearest tenth
if necessary.




